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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Lanquage

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

The figures of a horse and rider came slowly through the eddying mist, and came to the side of the
mail, where the passenger stood. The rider stooped, and, casting up his eyes at the guard, handed
the passenger a small folded paper. The rider's horse was blown, and both horse and rider were
covered with mud, from the hoofs of the horse to the hat of the man.

“Guard!” said the passenger, in a tone of quiet business confidence.

The watchful guard, with his right hand at the stock of his raised blunderbuss, his left at the barrel,
and his eye on the horseman, answered curtly, “Sir.”

“There is nothing to apprehend. | belong to Tellson's Bank. You must know Tellson's Bank in
London. | am going to Paris on business. A crown to drink. | may read this?”

“If so be as you're quick, sir.”

1) What were the rider and horse covered with?

A) Mud.

owe Techofworld.|
C) Grass. eC O Or ' n

D) Dew.

2) What can be the most likely connection between the passenger and the guard ?

A) Officer - Soldier.

B) Brother officers of same regiment.
C) Constables of same constabulary.
D) Peon - Clerk.

3) What did the rider hand to the passenger?

A) Some Money.
B) Folded paper.
C) Bill.

D) Horse.
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4) Where was the rider going?

A) Notre Dame.
B) London.

C) For a war.
D) Paris.

5) What did the rider want to do?

A) Read the paper.

B) Go to Tellson Bank.
C) Ride away.

D) Seek someone's help.

6) Fill in the blank with the correct option:

He said to his wife and went cab to a gift for her.

A) bye, by, buy

B) by, bye, buy TeChOfWO rld . I n

C) buy, by, bye
D) bye, bye, by

7) The phrase "Dispense with something" means

A) to get to know something

B) to acknowledge something

C) to get rid of something

D) to participate in a peculiar way or act differently

8) Fill in the blank with correct prefix or suffix:

The young batsman had done his captain's record of centuries.

A) out
B) re

C) over
D) super
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9) Which of the following words is correctly spelt?

10) The phrase "Crease up" means

A) to start laughing

(E;% wsatevng | @CHOfworld.In
)

to start yelling
D) to start sleeping
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Generally, which of the following gases is considered harmful because of its tendency to react
with haemoglobin and results in the decrease of oxygen available to the tissues?

A) Sulphur dioxide
B) Carbon dioxide
C) Carbon monoxide
D) Nitrogen oxide

11) auieaes, FINYE aua AIQ 626¢ 26AIEqIAR A0 gORHI @aeie JQR 62Q S0RI0e 6QIM F6eeql eaIaN & 1RIQ
TRYRU 5960 2008 AQRIR 1A PI?

b 1 €ChOfworld.|
B) QI9Q ciezqiee eC O Or . n
C) @I9R, F6RIQIaQ,

D) RIREEIERR, URIN,

12) Which one among following is not a primary role of pressure groups in political system?

A) Criticise the government

B) Important part of the democratic process
C) Contest elections

D) Influence government policy to benefit themselves or their causes

12) 59RO Mg 6060 QINCATR ILQIER SIA 6aIT1a giafie Qe Q6< ?

A) 99916G QAIHISR @59
B) qeeiae gaaia geqad 2ra 629
C) adieor gasaidiol MG

D) 4eQ @al 6aniee Aie 629 209161 710 2A6A gRIR ANIR

13) The principal governing body of the Education system in India is -

A) NCERT
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B) CICSE
C) SCERT
D) State Boards

13) aieeta daieiegie gat g9 QAT ceaas -

A) ¥Rdeeied
B) duiedaq@
C) q@eaIed
D) QI8 6216Qea

14) Which of the following languages was NOT part of the 'three dialect equation' of the 1968 NPE?

aeae Techofworld.In

C) Language of the State
D) Sanskrit

14) 3qage ASIgFe AQ 60dd ¢ ¢or Y] J Qe ‘Q1- AONISI ANLE’ 2ra Q6s ?

A) sraisi

B) @1

C) ais4a il
D) @36

15) The National Programme of Nutritional Support to Primary Education (NP-NSPE) was launched
on which of the following dates?

A) 14 November 2002
B) 15 August 1995

C) 26 January 1985
D) 02 October 2000

15) gede a8 ae Qiea aivel a1o1a aidien (NP-NSPE) 6QQ CI6E6R AR QAIAINARI ?

A) ex¥ QEREQ 9009
B) ¢8 201Q eces
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D) o9 2AERYIA 9000
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) How many letters are there between 25th alphabet from the left and 10th alphabet from the right,
when letters are arranged as per the alphabetical order?

A) 6
B) 7
C)8
D)9

16) 69606969 4RI @A 2QAIA asa%l@%i QRIAN, QIFQ 9860 Q4 I CI214Q ¢ of 94 AIEa CREVIT ZEe AR ?

-2 Techofworld.In

Cr
D) ¢

17) In a certain code language, if the word CUTE is coded as 321205, then how will the word BAT
be coded in that language?

A) 2210
B) 2120
C) 2230
D) 2340

17) <@ 244 6qig isica, 98 CUTE @e M9 ¢ 908 QIe6a 610, 62108, 606@ 622 aisica BAT aef @ 80d ceie @QUIS ?

A) 99¢0
B) 9¢90
C) 990
D) 9qxo

18) In the following questions, mark:
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1, if statement | alone is sufficient to answer the problem.
2, if statement |l alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What was the net worth of company XYZ in the year 20117?
I. In the year 2009 the net worth of the company XYZ was $100,000.
Il. The net worth of the company increased by 10% from 2010 to 2011.

>, Techofworld.In

C)3
D) 4

18) RANYS 9995060 636 @0q :
A% 994 | anavia RRQ caalq Asaa 26T |

9. 9% QR4 1 ¥gFa AR AAQA ca9Ig A6 26T |
q. 98 QA | e |l aeag 9I0 H2ITE 6669 ANAIQ ARQA 629! AlEl ATYIG 26T |

¥. 26 QA4 | 9e |l aeag 9eI0 F2Ie 6068 @ AnAa QAR 6@ alel adug Q6d |

908 € adaiea et XYZ @ 609 qay 6@6C aal ?
l. 900¢ adiee XYZ asticie 60'Q a4 $eoo,000 8l |

Il. 9020 @ 90¢¢ adia aliRIa 6AQ ORY 0% QF QIR |

A) ¢
B) ¢
c)m
D) ¥
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i

19) A truck travelling towards south covers a distance of 8 km, then turns right and covers another 9
km. Finally, it turns right and stops. In which direction is it facing finally?

A) East

B) West
C) North
D) South

19) 86 21eq AIRTRI 1R 6] I FEAINC Q06! UTYA F6Q, CIN6R FIREP AIR AR ¢ FEAFCR ATIA F6Q | 66T6Q, YR AIRIEQ R
20D AN | 68860 9Q & ¢ Gag qolad ?

o1 echofworld.In
C) aa@
D) @&@eé

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the value of the integer z?
I. z has exactly one prime factor.

Il. 22 < z < 29, and z has exactly three factors.

A) 1
B) 2
e)3s
D) 4

20) FARNYS 9996960 536 @09 :
0. 9@ Q94 | anaiia ARQA caalq Acae AT |

Ad YA€ 1 vgdal anaiia QAR caqlq Acae 26T |

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190
Set Id : 62297_13 BATCH?Z

0. 298 YA | ver || aeag Q10 FZIAS 6669 ANAIQ AR 62! Ale adHg 26S |

¥. 96 QR4 | ver || aeaq 9aI0 G2IFe 6060 @ ANAYIQ AR 62l AR AdYIg Q6 |

Qdis Z @ AR 6266 ?
l. Z 66 9@ gQd QY1 &8 |

Il. 99 <Z < 9¢, 9e* Z @ OR 06015 QYR 283 |
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C)®
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which amongst the following has the aim of dealing with theory of knowledge?

A) Theology

B) Metaphysics
C) Epistemology
D) Axiology

21) 39Rge rIQ 6296 RIGQ RIS 226 RIRRIQ RARIQ AR OGS ?

A) ¥daig

B) (25
C) sieqiaral
D) quaiaral

22) The process of a teacher examining their teaching methods and identifies areas for improvement.
What is this method of teaching called?

A) Cooperative teaching T h fW Id I
B) Reflective teaching eC O Or B n
C) Co teaching

D) Team teaching

22) 966 2:I9Q 0Iea SRIQIR gEIRIQ 08F 6 012l 308 QYe SAIAINAIGS oIl §9¢ 905 | aIRIea 1@ 08dQ @'6 QRIAN ?

A) Qe6aist SRR
B) goa@e dalaie
C) a2 daQiq

D) salat AR

23) Which of the following options is an example of a commercial agency of education?

A) Club

B) Social welfare society
C) Newspaper
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D) Scouting

23) 8gRge §eegse MrIQ 6adt daIQ QIEETe YR @ aQIad 26T ?

A) @8
B) QnIfe @quiél aaie
C) 4eaqiae

D) qiadet

24) Which of the following programmes set up Alternative Schools in places where there are no
formal schools?

A) The Education Guarantee Scheme
B) Midday Meal Scheme

C) Operation Blackboard

D) Shikshan Yojana

24) 89Rge QNQAYEe MIQ 6940 6316a 2R Suea 28l gIRsa Fes e QAR a2

A) 891 grde saieal

B) FRIg 6819% 6QIS! TeCh OfWO rI d . I n

C) 296029 QIeeQIe

D) 86 saiea

25) We move from specific to general in

A) Deductive method

B) Teacher centered method
C) Inductive method

D) Curriculum centered method

25) 260 q8ca 3899 AR A<

A) 399RI0Q 9856
B) daesdde aadea
C) 21999109 9856
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D) aioigredae aed6a

26) Jigsaw reading, a peer teaching strategy involves which of the the following procedures?

A) Make small groups and ask students to read the text in groups and explain it to each other.
B) Each child reads the text, explains it to his neighbour and then pairs explain it to their group.

C) Make a plan of a complex seating arrangement for heterogenous groups. Give them a difficult
text to read.

D) Divide a text. Each group reads one section and discusses. Regroups and discusses with
other groups.

26) 94 R@°9|, 9o Azaise daRle R AT, \Y2J6Q Fqdye JEINIgFe ag 6QU0q 23S Q6Q ?

A)  eaie caIgl 02IR QAL 9 BIRAIRG 66IT16R AIIR AFe! 1% 0020] eLiaalg QRIAN|

B) gsoue aai alovg ARE, 12Ig aceIa IFS QLIB 9&* 0I'T6a 6ABAICR ¥RIQ P 6aINIQ QIS |
C) Qeqeaqmies QI 9@ 269 231 YR 6N IO 29 | 6NN AR AR I@ FIRQ AI0Y F2F |

D) aoiq @85 FNICER F0S FAITI | geoe 63181 6aIEN FaIS 093 1F° 2EAIORI 903 | 6aISIR JRTOR 208 1e e

60191 AQ eloq@ 26RNOR 20 |

27) A learner feels isolated and has very few friends. The teacher should take care of which of the
following characters of the learner?

A) Demographic characters like age, gender-l- eC h OfWO rl d a I n

B) Physical systems like classrooms and furniture
C) Emotional characteristics like group dynamics, sociability, self image
D) Cognitive characterisitics like mental processes and cognition

27) 964 daich 30Q ARG AN A3 I JIFQ 990 @0 AF 283 | A9 FAYe 05egfe Mg Aadia Y 0aefa AQ 6aQl
QG0 ?

A) caq, i 08 FRAYS 06

B) 644192 e 2 19919dQ 9 AIIee gaIMQA

C) sqia1 ad4100!, QARIGRS!, 29 9628 ad Aegea 63984

D) ciede gdal ve* &ie 08 RIRee 699]Q
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28) SQ3R and PQ4R stand for

A) Summarise, Quote, Read, Recite, Rote, Rewrite; Prepare, Question, Revise, Read, Recite,
Rewrite

B) Survey, Question Read, Recite, Review; Preview, Question, Read, Reflect, Recite, Review
C) Summarise, Quote, Recall, Recite, Rote, Revise; Preview, Quote, Revise, Recite, Reword,
Review

D) Support, Question, Rewrite, Revise, Relearn; Premise, Question, Rewrite, Recite, Reword,
Review

28) wagynaie 9e° dsUR alel 49ge 94 |

A) ARG, 6217, AR, AAIRY, 6AIY, AART ; JANQ, 6RI6AR, AN, AR, AAAT, ARG

B) 6@, 69168R, 6, GAIRY, A8 ; Jae, 6116aR, A, A6qLT, AAIRT, ARR
C) QaaIRg, 6918, AR, ARG, 6AIg, ARIAE ; J6R, 6918, ANIRE, AARY, A6E, AR
D)

Q6AIR, 6RI68], ARG, ARIAR, ARG ; TAIRY, 6RI6AR, AAIREG, AAIRT, A6E, AR

29) Which of the following is a suitable way to know the reason for weaknesses of students in a
particular subject?

A) conducting remedial teaching T h fW Id I

B) using feedback techniques eC O O r - n
C) conducting diagnostic test

D) gathering information from parent

29) 66T FTAEA R4 BIGQ GIRTIA AIAE KGR AR FYAYS ARIEA 6T 6208 AAYS ARIA ?

A) 9GP 396 2ICARS ARG
B) gGQ@9l 62910 Q09 QLR KR!
C) 65010@ 0014 2ICARS QAR

D) deiIcia 0IQ YoR! A°g2 /S

30) A learner likes to understand information through tactile information, for eg: hands on experience
and experiential learning. He is a

A) auditory learner
B) visual learner

Pana14nfd1
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C) sensory learner
D) kinesthetic learner
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30) w66 daigh gRRAd 990! AQIeaAa: RYIY 2R} 26RG! & ANVLR AA AUCH BIR, ARINER ORI QEQIQ 0A0 a3 6Q
K66

A) 68161 aaih

s waaeses 1 €CHOTWOTId.IN

C) Qsaeqdie aaid
D) €1018@ QIdieaia el
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Section 5 - Paperll-Odia Language

No. of Questions

31) 632 QUVIER 2,21.2,2,4,8 2@ ST YTQ @ IRIQ IQ Y& QRIAN?

A) g8 9a

B) a°ge 9a
C) 6512 9@
D) §-9@

32) ‘2esqide’ 906 699 RAAT MNALE ?

A) 2

B) 2e

C) aa6qied
D) faaie

33) 2Ig6R @4 B QIR FAIAQ F0R FAUAIRAN ?

»ue [ echofworld.In

B) gova
C) qal
D) a4

34) ‘2ea’aeq fadeIdealRe 99 QI8 |

A) 818
B) Qieme
C) i@
D) fes

35) @I32dQ ‘@' 426 6916 AAIA AR AQ 691 AN ASRS?
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A) agieie @g91@

B) auaesmial @g91@
C) Quyead @g91@

D) a8 @gq1@

36) gI9Q 8@6a 632 UEe VRYRF 699 IR AR 0B FAUAIRG?

A) 26Q18-A6QI8
B) 21ggie-a21gIé
C) aelg-28a
D) gé-acae

37) ‘@’ dIg MR *RARIYR| RAATYS 908Q QI |

S 1€chofworld.In

C) e
D) gaie

38) ‘Gelaq 6agel’ 9Fe 2d FQad8 @a |

A) @96Q A9 624Q

B) i€l @<

C) a8gq @aa!

D) 2Qae @g aid 28l 8!

39) ‘ggealG adlea agel’ 2d eie @Qael 956 g1l |

A) @2 ARIQQ!
B) @&l goa
C) @2l agQ
D) @2l daiaQ
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40) 609 99 QIR JRINQIER ALIAR QRN ?

A) @I9Q

B) Geaqy aQ
C) Qsaa4 a@
D) Qia@

41) ‘goqa’ 99a FaGId6QIIR §R QIS |

A) @ldeia
B) ereel
C) @9QIa
D) 93¢

42) Q6419 FRIQ 694G IR 2GR IR7?

o Techofworld.In

C) gea
D) geas!

43) ‘aeie’ 2dea ‘@’ goua 6196 900 995 QI8 |

A) 2ae
B) aden
C) fiwet
D) zlogiet

44) 629 AQQ ANIFEQ AR 22°gY Q6?

A) Y6894 aQ
B) Geaa4 Q@
C) 2iqua @
D) @al 9@
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45) ‘Q19’ 90a AAIg6ARIS 99 QIS |

v Techofworld.In

C) @89
D) 24

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

Section 6 - Paperll-Mathematics

No. of Questions: 15

46) What value of x satisfies the equation 6x + 4 = 34?

A) 5
B) 6
C)7
D)8

46) x @ 6a@ AIRG 6X + 4 = 34 anieadqg AOR 4N ?

A) 5
B) 6
C)7
D)8

47) If the area of the square inscribed in a circle is 144 sq.cm, then what is the area of the circle?

472 sq.m  Techofworld.In

C) 120 1 sq.cm
D) 144 1 sq.cm

47) 9@ 9@ QR usdiye edeage 6agae 144 ad 6afi 24, 666@ QRN (VTR 6R6C 62@ ?

A) 72 11 @6 6ad

B) 708 1 a4 ead
C) 120 T «d ead
D) 144 1 od 6ad

48) What is the capacity of the largest measuring container that can accurately fill 3 tanks each of
capacity 96 litres, 180 litres and 264 litres ?

A) 24 litres

B) 18 litres

C) 12 litres
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D) 6 litres

48) adqee 1A QM IR AIge SNGI 6966 629, ARl 96 Acq, 180 dea e 264 Gca 861 §88 NE CUICY A0R AR Gad
QIR ?

A) 24 Gea

B) 18 dea

C) 12 Gea

D) 6 dsa

49) A refrigerator with a marked price of ¥ 12,500 is on offer at a discount of 10%.The amount of
discount is

A) % 1,200
B) % 1,250
C) 1,300
D) % 1,350

49) e cagecace ade ga4 T 12,500 el easa 10% Gei6e 20 028 | 6069 GRIG0 0RMIE 6203

A) ¥ 1,200

meizs | @chofworld.In

C) ¥ 1,300
D) 1,350

50) If 7 is added to three-fourth of a number, the result is 3 more than the number itself. What is the
number?

A) 12
B) 14
C)16
D) 18

50) 9@ 9 Taia 65-0Qdrasa 7 6016 @QIAINAN, 6069 TLITL THIOIQ 3 ATR 629 | 6069 PHIT 6R6E 629 ?

A) 12
B) 14
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C)16
D) 18

51) In a triangle AABC, AB = 8 cm, BC = 15 cm and AC = 12 cm. If AD is the angular bisector of the
angle A, then what is the measure of DC?

A) 6 cm

B) 7 cm

C)7.5cm

D)9 cm

51) 9@ 898 AABCee, AB = 8 6ai, BC = 15 6afi ve* AC = 12 6afi1 a8 AD, A ceiee 6Q16@ QAQHER ceial,
606@ DC @ 910 6066 62 ?

A) 6 ead

B) 7 ead

C) 7.5 ead

D) 9 6ad

52) The sum of two numbers is 546 and their HCF is 21. How many such pair of numbers are there?

22 Techofworld.In

C)6
D)8

52) 9a8 aiia a0 6208 546 1 canIese aaig 6208 21 1 1@ad QHIGETRQ se6016 6QIG 028 ?

A) 2
B) 3
C)6
D)8

53) An amount of ¥ 20,000 is invested under simple interest for 5 years at a rate of interest of 10%.
What is the simple interest earned after 5 years?

A) 10,000
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B) % 20,000
C) 30,000
D) % 40,000

53) 10% qu 2icsa 5 od aiel aee guea T 20,000 a3saia s2108 |15 od asa w8Q 6060 Q0@ Qu §ide ?

A) % 10,000
B) % 20,000
C) % 30,000
D) % 40,000

54) In a zoo, there are rabbits, pigeons and monkeys. The respective ratio of their numbers is 2: 3:
5. If the total number altogether is 200, then the number of rabbits is

v« Techofworld.In

C) 80
D) 100

54) 1@ gié QUIRER 60q2I, AIRI I AING AR | 6AAIRSR TS AQAIe 6208 2: 3: 51 9 sanrea ageia @ay 200 ¢y,
606Q 60QAUG T 6228

A) 40
B) 60
C) 80
D) 100

55) Identify the singleton set from the following

A) Set of prime numbers less than 10
B) Set of even prime numbers

C) Set of odd prime numbers

D) Set of prime numbers less than 6

55) dsqie Fldlg 9@ QRIS F8] 6QQ &3¢ e0q

A) 10 @ @9 6dide Patia 6Q]
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B) qg sfide craugden 6QQ
C) agq saide craugies 69
D) 6 q @ sfide eaie 6]

56) What is the value of the following expression after simplification?

Expression : V(8 +V(36+(V961) x 100))

A) 24
B) 12
C)8
D) 4

56) 1@ aee1ead 06a JOR 26943a FIR 6060 629 ?

26ed: V(8 +V(36+(V961) x 100))

2 Techofworld.In

C)8
D) 4

57) If the area of the circumcircle which circumscribes an equilateral triangle is 481 sq .cm, then
what is the area of the equilateral triangle?

A) 2473 sq.cm
B) 36V3 sq.cm

C) 483 sq.cm 24 / 41 -
D) 14473 sq.cm

57) 9% 9@ 9RQ8Q 6ASTR O Y@ ANQIF FPEY TARUS F6Q, T 48 QT 637 26T, 696 ANRIF TR
6AQTR 6969 62Q ?

A) 243 odi sad
B) 36V3 ¢ saf
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C) 483 adi 6ad
D) 14473 o4 6af

58) Veeresh is elder than Ram by 12 years and the ratio of their present ages is 7:6. What is the
present age of Veeresh?

A) 36 years
B) 48 years
C) 84 years
D) 96 years

58) §cada aiae 01 12 ad @@ e 62AIRSR QAR e0ge aQale 7: 61860as QEFINQ 2ad 6960 62@ ?

o % Techofworld.In

C) 84 a4
D) 96 as

59) If A= {4"n - 3n -1 | neN}} and B = {9n — 9 | n € N}} then

A) B is subset of a A

B) B and A are equal sets

C) Ais a subset of B

D) A and B are equivalent sets

59) ad A= {47 - 3n -1 | neN}} w& B = {9n — 9 | n € N}} se6e

A) B 6203 A @ 20699

B) B we A aqie 6QQ 263

C) A 6208 B o 9@ Q06Q%

D) A we B QAga 6QQ 268

60) Area of square 'A'is 100 sq,units. There is another square 'B' whose area is more than the area

of square 'A’' by 189%. The side length of square 'B' is more than the side length of square 'A" by
(approximately)
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A) 17%
B) 35%
C) 70%
D) 89%

60) adeng 'A'a sagae 100 adgfc| asy v edeaga 68eae 'B' od 'A' gerisa 189% zye 028 | edese 'B'a aig an
Qdeag 'A'a aig a0 0IQ 6160 28R (ARAIFS KIER) ?

p  Techofworld.In
C) 70%
D) 89%
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61) Which instrument is used to measure precipitation in its liquid form in a specific area over a
predetermined period of time?

A) Udometer

B) Barometer

C) Anemometer

D) Hygrometer

61) 9@ 544 2roQea 96 FRIGE ANG MRIEA dIQ YRIA FALAAER AITS! AIF 60E RARRE MRS 9?

A) a6eifica

B) QleQufieq
C) a1R68109'Q
D) QIR6IFTR

62) An Ocean, will come under the category of which of the following spheres of the Earth?
A) Atmosphere T h fW Id I

B) Hydrosphere eC O O r . n

C) Geosphere

D) Biosphere

62) Q@ A2IAIGA, YA FIRYS 688YER AUQ 69Q 6§41 2URER 21RAQ?

A) 96QI3aQ
B) eiqsgi@dae
C) Geairoe
D) qieaidaa

63) The Council of Ministers in the Union Government is collectively responsible to whom?

A) Prime Minister
B) Lok Sabha
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C) President
D) Parliament

63) 699 AT AR AR AFRR NER QI AR AA! ?

A) guIeas!
B) smieQal

C) Ugad
D) @29

64) The most important Pala Dynasty of East India was founded by

A) Dharmapala
B) Gopala

C) Devapala

D) Mahendrapala

64) g9 QIAER AQ0IQ JRRYY IR AURL°F 1S FQI OIS 62IRYR

e Techofworld.In
C) seqai®
D) aieegai®

65) The Montreal Protocol signed in September 1987 aims at the control of the

A) use of Ozone depleting substances
B) use of both ODS and HFC
C) use of HFC only

D) use of pesticides substances

65) 626QAQ €¢I 9 6 UVGE 6IRYR CAPSAUIR 6IETIRN IR FAREQ AW Q6

A) G69I8 S0QIa1 aQide Q1Q2IR
B) @aa (@9 96 IONTQ @ Q4RI
C) 629% ¥oNad @ QIeR1R
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D) 16Q18@ 0Qidia Q49210

66) Read the following statements and choose the CORRECT option.
(i) Earth’s crust is divided into two types: oceanic crust and continental crust.

(i) Oceanic crust, extending 5-10 kilometres beneath the ocean floor, is mostly composed of different
types of basalts.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ji) is TRUE
D) (i) is FALSE and (ii) is FALSE

66) Q618 FRQEGE] 9T 19 A0R 998 AR *Qg!
(i) 92910 PR IR IRIAER Fa3 FALIRE : AIACAIY PR} Ie° AIRFID ReK |

(i) A2IATQ 36@ 5-10 FEAIFITA I QQRYR| ALIATAIA QRR, TR IRIAQ 62AIRF 69 F0F |

A) (i) Qo4 2165 99 (ii) ey 26T

B) (i) Qo4 2169 98" (i) 2QY 266 TeCh OfWO rl d I n
C) (i) 2aey &6s 9e° (i) A 266

D) (i) 21Q04 2166 99 (i) 21QeY 26T

67) The main advantage of parliamentary form of government is that

A) The executive and legislature work independently

B) It provides continuity of policy and is more efficient

C) The executive remains responsible to the legislature

D) The head of the Government cannot be changed without election

67) 210 20RIea Qe QR 6208 el 64

A) QIIIGFI21 e QUIRAR AR VIFER AIGY 6Q
B) 2! 9106 3096l gAIe @6Q 19 UR 98 26
C) eidiRdier RuIeael aiel Qlal 628
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D) FRI00 BRI ANRINER Yo ARROR RAUAQARS QD

68) From which Constitution was the concept of 'single citizenship' in India borrowed?

A) USA

B) England
C) Canada
D) France

68) e1e66a ‘9@ FIeGaq’ 2QUIAE a9 AR AAIIRAR! ?

A) 98918 26AaI
B) arag

C) QIQIgl

D) &I

69) The imaginary lines of latitude that are used to locate a position on the surface of the Earth are
also known as

veis | @echofworld.In

B) Parallels
C) Meridians
D) Perpendiculars

69) 28raq @89l 694 QIR 9YIIYICR IR YR 6HIFR QIR MO 29

A) gt@
B) QIFIIN6RE! 9@

C) FRIQR 69619g)Q
D) 2eaAe

70) In which year did the Cabinet Mission arrive in India?
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70) 624 @dea QUIRERE AR NQOER QLGN ?

A) eC¥9
B) e¢¥?
C) e¢x8
D) ecas

71) The advent of the Aryans in India marks the beginning of the Vedic Period. The Aryans first
settled in which region of India?

A) West Bengal

B) Maharashtra

C) Punjab

D) Andhra Pradesh

71) QIQG6Q ANAIRET 2ITAS 637 ANAQ QA 2A6E | AIAIER F2EH NAGA 639 ALREA FARIA FEN?

o Techofworld.In
C) aae
D) 21gg6a4

72) The two supplementary agreements of Convention on Biological Diversity 1992 are

A) Barcelona and Madrid Protocol

B) Barcelona and Cartagena Protocol
C) Madrid and Nagoya Protocol

D) Cartagena and Nagoya Protocol

= -~

72) 683d@ QGu0I AGARR1 @ ¢ ¢ 90 9af afigee QIRI0I 6208

A) Qideqiel e AIZQ 696918
B) QTR 9Ie° RISIEAR! 67I6CIARN
C) AIGQ 1e* QIsalIol 6gI661aR

D) @ISI6aRl 96° QI6aIal 6gI6S1N
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73) In which of the following ways does the Indian Federation resembles the Canadian Federation?

A) In the formation, ie. by way of agreement among the states

B) In the centralizing tendency (vesting more powers in the centre than in the states)
C) In providing absolute power to the local governments
D) In its formation by way of fission

73) 9RYe AUQ 6RWE6R NN 6TCL6RAR FRIGH 6T6060AR ARG AR ACT' ?

A) 90969, 22116, AINYGER ARIER 62T QIRIA AFAIER

B) segaad geoea (QIRY U 6QQY AR AAGI RY8 FAUAIR)
C) 9019 Qaaieg @4 43 6ANNCANER

D) §¢re® Q6 121 S0R6R

74) The Tropic of Cancer passes through how many countries of the World?

»i Techofworld.In

B) 15
C)17
D) 19

74) ad¢ QI3 QAU 626018 624 699 96 A2 ?

A) e
B) ¢8
C) ¢®
D) e«

75) What was the goal of the Lahore session of INC of 19297?

A) Local Self Government of India

B) Complete independence for India
C) Self Government

D) Federal Government
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75) e¢9¢ 60 AQNLIQ AICQ UNEIIRQ AW Q& 2R ?

A) VLA GIP1G U° LRAQ

B) @106 QI Q¢4 QRIGS! Te ks h OfWO rl d ; I N

C) Q9 26910
D) Taia a6eie
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76) Name the titrimetric reaction in which KMnOs is used as a standard solution.

A) Dichromatometry
B) lodometry

C) Permanganometry
D) lodimetry

76) ciefende godae ein duq cadgsa KMnO4 9@ qiee Q6] aieca 4eg0 94

A) G6gIAI6cI16AG!
B) HieaI6@I6AE
C) 2eAIeneRIens
D) zlsaIdens

77) What will be the temperature at which the volume will become zero in V vs t ( at °C) keeping
pressure and mass constant?

o a-c 1 €chofworld.In

C) (273 °C)
D) (-73 °C)

77) 919 9Q° Q9LQ QY 6260 QIAAIGIEA V QRIF t (°C 69) 6Q AR gay 62Q ?

A) 0 °C

B) (-273 °C)
C) (273 °C)
D) (-73 °C)

78) A car is moving with initial velocity of 10 m/sec with acceleration of 8 m/sec?. How much distance
it would cover in 40 seconds?

A) 3200 m
B) 6800 m
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C) 6400 m
D) 4000 m

78) 641G\ Q19 8 m/sec? @ QAd AZE 10 m/sec JINA@ AA6Q06a 96 Q@QE 140 6260496 92 6263 90!
0PN KR ?

A) 3200 m

B) 6800 m

C) 6400 m

D) 4000 m

79) The is a membrane around the vacuole.

A) Elaioplast TeCh OfWO rl d . I N

B) Tonoplast
C) Amyloplast
D) Cytoplast

79) 6208 QARG cIGase 8l 9 &y |

A) RIR6YI8
B) 6s16qI1qI8
C) ufemig)e
D) aeeige

80) The simple dry achenial fruits in which pericarp and seed coats are commonly fused is

A) Achene
B) Cypsela
C) Caryopsis
D) Nut

80) a6e YRl 26SRZN TP 6ALYER 6aGRT I F2F 6RI6 ARINE NUNEK TYR 621Q2Ia

A) 2iee@
B) sfidare
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C) Qe1arg
D) ciain Q@Y @@

81) Which among the following product formation and kind of reaction will take place when HCHO is
treated with conc NaOH?

A) CH30OH and reduction reaction

B) CH3OH, HCOONa and Cannizaro reaction
C) CH30OH, CH3COOH and Schmidt reaction
D) CH3COOH and oxidation reaction

81) sasose6@ HCHO @ ararsge NaOH a0 94e2ia @aigen FgRAg0 AIQ 624 2QIQ 98 620 Ie* 694 geIea 9689 a6 ?

A) CH30OH e g1a g6&al T h fW |d I

B) CH30H, HCOONa ve* Qideisal géasal e C O O r - n
C) CH30H, CH3COOH e ddde gaael

D) CH3COOH e 2@seas gégal

82) Which crystal system does this solid belong having the given edge lengths and angles between
edges? Given, edge lengths are: a =b = cand angles are: a = =y # 90° and < 120°.

A) Hexagonal

B) Orthorhombic

C) Triclinic

D) Rhombohedral

82) 6ad QR 36 3an 12 2Iea 63 I AIQ FRIER 611G I0E @60 ? JQR, Iea AAgER 6208 : @ = b = C 1 62169Fe 6208
ca=B=y#90° v < 120° |

A) 62qieqiRiR
B) zeeiafe
c) SIRRee
D) selericegia

83) A cyclist with mass 40 kg exerts a force of 400 N to move his cycle. The acceleration is 6 ms=2.
The force of friction between the road and tyres will be
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A) 240 N
B) 640 N
C) 320 N
D) 160 N

83) 40 Fg)l Bea G99 G648 ARCAA PR FITA ARERR FARQ! AR 400 N @@ J6AIT Q& | RQE 6208 6
ms2| QY B FIAQ FRIEA AT R 6260 629 ?

A) 240 N
B) 640 N
C)320N
D) 160 N

84) Cells that do NOT have a true nucleus or membrane-bound organelles are called

A) Prokaryotic Cell TeCh OfWO rld . I n

B) Stem cells
C) Nerve Cell
D) Cartillage cells

84) cadl 6R1995R60 990 R4GAA @0l 6A6aR-6Q1E adisny Ral, 6aAIRE Qeian |
A) 69191665@ 629
B) 68¢ 6@

C) o€ san
D) @IF6a® 6R1899R

85) According to which model the quasi-fluid nature of lipids enables lateral movement of proteins
within the bilayer of lipids?

A) Unit membrane theory
B) Fluid mosaic model
C) Micellar theory

D) Sandwich model
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85) caq Acea Il AGQe QI3-IRe 9ef ATQa FIaq MUER 6gIFRa AITIA G0g AT K6Q ?

A) 286 6q67e ARI3
B) 289 67IRIAR AR
C) aipcaniq ARIe
D) Qi9Ge asea

86) In Citrus plants, the stamens are arranged in

A) monoadelphous condition
B) diadelphous condition

C) polyadelphous condition
D) didynamous condition

86) aInga afeg@ese, 8I6ARgEe Yad aRIKIna

A) 62116R168NTQ 2AIER
5 ommnoenss 1 €CNOTWOTrIA.IN
C) adwicenaa 2eg6a

D) Gelerira 2eg6Q

87) What is the ratio between the root mean square velocities (vims) between temperatures 207 °C

and -243 °C of a gas X?

A) 2
B) (1/2)
C)4
D) (1/4)

87) g a1 @6 626 (Vims) aiea e1anigl 207 °C e quia X @ -243 °C aee 2gaie @'a ?

A) 2
B) (1/2)
C)4
D) (1/4)

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF)

Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World

Whatsapp/Call- 8596976190
Set Id : 62297_13

BATCH2_D.EI.ED Odia_08NOV2020

88) In the equation F = ma, what does 'a' represent?

A) Torque
B) Acceleration
C) Velocity
D) Mass

88) AA1RQETER F = ma, g6 'a’ 6296Q AAYIAL AQE ?

89) Ricket in children is caused due to excessive deficiency of

nvwamor T achofworld.In

C) Vitamin C
D) Vitamin D

Q AR NS AIQEQ TAIAIRY® QGQQ 24|

90) Which one of the following cell organelle functions like a cell circulatory system?

A) Cell membrane

B) Endoplasmic Reticulum
C) Mitochondria

D) Lysosomes
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90) 39RdE 6aR AICHN ARIQ 6RAT 6T A8 TRIRR IR A8 QUMY Q6Q ?

A) 699 6069Q

) 64IgRIT@ 605ne TeCh OfWO rI d a I n

B
C) Aassiagell
D) fIesacaia
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| Question Paper No: | 62297_13
| | Answer Key

1A 31| A 61 | A

2|A 32| B 62 | B

3|8 33|B 63 | B

4| D 34| A 64 | B

5|A 35|D 65 | A

6|A 36 | B 66 | A

7€ 37| A 67 | C

8| A 38| D 68 | B

9/B 39| B 69 | B
10| A 40 | A 70 | B
11|C 41 | A 71 | C
12.|€ 42 | B 72 | D
13| A 43 | A 73 | B
14 | D 44| D 74 | C
15| B 45| C 75| B
16 | B 46 | A 76 | C
17| B 47 | A 77 | B
18| D 48 | C 78 | B
19'|C 49 | B 79 | B
20| B 50| C 80 | C
21 | C 51|D 81 | B
22| B 32 |C 82| D
23| B S3|A 83| D
24 | A 54| A 84 | A
25| C 55|B 85| B
26 | D 56 | C 86 | C
27| C 57| B 87| C
28 | B 58| C 88 | B
29| C 39 |C 89 | D
30| D 60 | C 9 | B
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